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(3 pts) Let X; follow the Gamma (1/100, 2/100) distribution for i = 1,2...,100, independently of
each other. We are interested in finding the distribution of the sample average, ¥ = ﬁ 2}2‘} X;-

Using properties of MGFs, identify the distribution of Y.

Recall that for X ~ Gamma (r,\), Mx(t) = (25)", t < \.

A 100
lev S':é‘—&’ oz W02 !
M = "’\x(‘-*\"'w\é'i: ('07"“('> (.oz—'b>
c ol £\ = _'o_z.— - z
N\\I(’c)= N\-‘--Sm Ms( ) wte ok -k
)

By ™ w\-tvz.m ot MbF, Y Exp ()




@ RCCD%\N\%’MQ*ISBVLO(OM Lowv Pe
Vavidlde put o " &ews“t-\‘).

A dJQV\SH;u\ Can e Wwriillew as
«PC{\ = C
K
(onstend
1

A Ty A
- — CQ'P = C =

-

So WPu (an Llgove ok e densiky £rom
WS vasdalle Pavt.

\ e.\ \.qu A z
L-}}‘kOL &en&h\.e). lee_ orele 4lelr Vv Parks

e T (D) SO = r'm
T Nownr (ug) L@ = 2

AU (4)  Lay= l_

b‘
,m



)
©

T. v Gamae(r, )\l Y 79 Q(k)j{‘— X £20

EI$h

T~ Exp (;\\) A70 L) -—:& t>o

else

—

—
NaviaMe  pavt ex G%VWL(“Z:J l\:g)

-
D= £ s‘iﬁ Gamme (4, %)
B \I\LL’\ = éﬁ; '\)Ov\Mql (D} \>
D hipn= & = Ext(3)

D wd= £ T G | z,"
65 )’)('l:) ;’l(-ke (o)l')) UA\L{O;')

exX Noame N &}5-\31]«4110'—: b W -Cb”ew'wa



+\n”§=ﬂmm&v 4 -23 @@

Let X be the standard normal RV. The dis-
tribution of Y = X?2 is:

@}amma(%, 2
b Gamma(%, 1)
c Normal(0,1)

d none of the above
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